AP Calculus Chapter 2 Review Worksheet

Non- Calculator Problems.
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11.Find y/ if y=4cos® (7x) 12. Find % if y=sin(cos(\/;))
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15. Find d{ given x’ —8y° =60 16. Find df if cosy =sinx+1
dx dx”
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| U+ 24 =39 (x-5)

19. Find the values of x where the tangent to the graph of y =2x> —8x has a slope equal
to the slope of y=x.
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20. Find the coordinates where the tangent to the graph of y =8-3x—x? is

parallel to the x-axis.
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21. Find the equation of the normal line to the graph of y =cos(4x) at x= %
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22. Given  u(0)=5 u'(0)=3 v(0)=-1  v(0)
u'(-1)=8 V' (-)=-3 ' (5)==2 V(5

Find % at x =0 for the following functions.
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a) y=7v-2u b) y=uv
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©) y=% d) y=v(u)
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